
S. No DESCRIPTION SPECIFICATION QTY

1 PV Panel 300 Watts / 24 V 17 Nos

2 Grid Tie Inverter 5 KVA/MPPT/Single Phase 1 No

3 Mounting Structure Hot Dip Galvanized Coated(5kW) 1 No

4 DC - Wire 4 sqmm / Single Core Cable 40 Mtrs

5 DC - Wire 4 sqmm / Single Core Cable 40 Mtrs

6 Array Junction Box (DC)
5 Kw -2 In 2 Out                        

SPD,Diode,MCB 
1 No

7 Array Junction Box (AC)
5 Kw -1 In 1 Out                        

SPD,MCB 
1 No

8 AC Cable 3 core cable / 4sqmm 5 Mtrs

9 MC4 Straight Connector Phonix 2 Pairs

10 Hex Bolt SS/M8 x 20

11 Hex Bolt SS / M6 x 15

12 Hex Nut SS/ M8

13 Hex Nut SS/M6

BILL OF MATERIAL

PRODUCT NAME : Solar Roof top Power Plant - ON GRID (Package) - 5 kWp (Single Phase)

As required for 

Mounting Structure



S. No DESCRIPTION SPECIFICATION QTY

1 PV Panel 300 Watts / 24 V 17 Nos

2 Grid Tie Inverter 5 KVA/MPPT/Three Phase 1 No

3 Mounting Structure Hot Dip Galvanized Coated(5kW) 1 No

4 DC - Wire 4 sqmm / Single Core Cable 40 Mtrs

5 DC - Wire 4 sqmm / Single Core Cable 40 Mtrs

6 Array Junction Box (DC)
5 Kw -2 In 2 Out                        

SPD,Diode,MCB 
1 No

7 Array Junction Box (AC)
1 Kw -1 In 1 Out                        

SPD,MCB 
1 No

8 AC Cable 3 core cable / 4sqmm 5 Mtrs

9 MC4 Straight Connector Phonix 2 Pairs

10 Hex Bolt SS/M8 x 20

11 Hex Bolt SS / M6 x 15

12 Hex Nut SS/ M8

13 Hex Nut SS/M6

As required for 

Mounting Structure

BILL OF MATERIAL

PRODUCT NAME : Solar Roof top Power Plant - ON GRID (Package) - 5 kWp (Three Phase)


